# SPLIT-EXTENSIONS OF EXCHANGE RINGS: A DIRECT PROOF 

GRIGORE CĂLUGĂREANU<br>Faculty of Mathematics and Computer Science<br>Babes-Bolyai University<br>400084 Cluj-Napoca, Romania<br>calug2001@yahoo.com<br>Received 20 October 2008<br>Accepted 1 February 2009<br>Communicated by P. Ara

A direct ring-theoretic proof for "if $R$ is a ring, $e$ is an idempotent and $e R e$ and $(1-e) R(1-e)$ are both exchange rings then $R$ is also an exchange ring" (left open for the last 31 years) is given.

Keywords: Exchange ring; corner ring; idempotent.
2000 Mathematics Subject Classification: 16D70, 16D99

## 0. Introduction

The exchange property was first (introduced and) studied for modules by Crawley and Jónsson in [1]: for a given cardinal $m$, a right $R$-module $M_{R}$ has the $m$-exchange property if whenever $A=M \oplus N=\bigoplus_{i \in I} A_{i}$ with $|I| \leq m$, there are submodules $A_{i}^{\prime} \leq A_{i}$ with $A=M \oplus\left(\bigoplus_{i \in I} A_{i}^{\prime}\right)$. If $M$ has $m$-exchange for all cardinals $m$, we say $M$ has the full exchange property. If the same holds just for finite cardinals, we say $M$ has the finite exchange property. Further on, Warfield, Jr. in [5], considered this property for rings (with identity): a ring $R$ such that $R_{R}$ has finite exchange is called (right) exchange ring, and this turned out to be a left-right symmetric condition.

In his 1977 seminal paper "Lifting idempotents and exchange rings", among other things (starting point of clean rings theory, characterization of exchange rings by lifting idempotents modulo one-sided ideals, etc), Nicholson calls a ring (right) suitable if for each equation $a+b=1$ there are (orthogonal) idempotents $e \in a R$ and $f \in b R$ such that $e+f=1$. Suitable rings and exchange rings coincide.

In the sequel, by exchange ring we mean right exchange (suitable) ring and assume/check this last (equivalent) condition.

From this paper we quote: "It would be of interest to see a direct ring-theoretic proof of the fact that if $R$ is a ring, $e \in R$ is an idempotent and eRe and $(1-e) R(1-e)$ are both exchange rings then $R$ is also an exchange ring". No such direct proof seems to have appeared the last 31 years. This paper closes this gap.

## 1. The Claim

For convenience write $\bar{r}=1-r$ for each $r \in R$. For an idempotent $e \in R$, we use the Pierce decomposition of the ring $R$ :

$$
R=\left[\begin{array}{ll}
e R e & e R \bar{e} \\
\bar{e} R e & \bar{e} R \bar{e}
\end{array}\right] .
$$

Let $A=\left[\begin{array}{ll}a & x \\ y & \alpha\end{array}\right] \in R$. Since $a \in e R e$ (ring with identity $e$ ) is exchange, there are $b, c \in e R e$ such that $b a b=b$ and $(e-a) c=e-a b$. The element $c$ can be chosen (see Sec. 2(b)), such that $c=c(e-a) c$. Consider $\alpha_{1}=\alpha-y(b-c) x \in \bar{e} R \bar{e}$. By exchange property, there are $\beta, \gamma \in \bar{e} R \bar{e}$ such that $\beta \alpha_{1} \beta=\beta$ and $\left(\bar{e}-\alpha_{1}\right) \gamma=\bar{e}-\alpha_{1} \beta$. Once again (by Sec. 2(b)), $\gamma=\gamma\left(\bar{e}-\alpha_{1}\right) \gamma$ can be assumed.

Taking

$$
C=\left[\begin{array}{cc}
c+c x(\beta-\gamma) y(b-c) & -c x(\beta-\gamma) \\
-\gamma y(b-c) & \gamma
\end{array}\right]
$$

and

$$
B=\left[\begin{array}{cc}
b+b x(\beta-\gamma) y(b-c) & -b x(\beta-\gamma) \\
-\beta y(b-c) & \beta
\end{array}\right],
$$

one verifies the equalities

$$
B A B=B \quad \text { and } \quad I_{2}-A B=\left(I_{2}-A\right) C
$$

where

$$
I_{2}=\left[\begin{array}{cc}
e & 0 \\
0 & \bar{e}
\end{array}\right]
$$

Therefore, $E=A B \in A R$ is an idempotent and $I_{2}-E \in\left(I_{2}-A\right) R$, as desired.

## 2. The Verification

Since (despite the easy claim above), the verification of these two matrix equalities is far from obvious, in this section we supply the necessary details.

We first recall some well-known relations which hold in any exchange ring.
(a) If $e \in a R$ is an idempotent, an element $b \in R$ can be chosen such that $e=a b$ and $b a b=b$.
(b) If $1-e \in(1-a) R$ is idempotent, an element $c \in R$ can be chosen such that $1-e=(1-a) c$ and $c(1-a) c=c$.
(c) $c a b=0$ [using $c(1-a) c=c$ and left multiplication by $c$ in $1-a b=(1-a) c]$.

Hence, replacing $R$ by the corner ring $e R e$, these relations hold for the elements $a, b$, and $c$ in the above claim (written $e-a b=(e-a) c$ from now on denoted (a')).

Similar properties hold for the Greek letters in the above claim (now replacing $R$ by $\bar{e} R \bar{e})$.

In order to simplify the writing, denote $s=x(\beta-\gamma)$ and $t=y(b-c)$. Thus $B=\left[\begin{array}{cc}b+b s t & -b s \\ -\beta t & \beta\end{array}\right]$ and $C=\left[\begin{array}{cc}c+c s t & -c s \\ -\gamma t & \gamma\end{array}\right]$.

Notice the following relations:
(d) $c a b=0$ implies $t a b=y b$.
(e) Using $\alpha_{1}=\alpha-t x$ in $\left(\bar{e}-\alpha_{1}\right) \gamma=\bar{e}-\alpha_{1} \beta$, gives $(\bar{e}-\alpha) \gamma=\bar{e}-\alpha \beta+t s$.
(f) Using it in $\beta \alpha_{1} \beta=\beta$ gives $\beta \alpha \beta=\beta+\beta t x \beta$.
(g) $\gamma \alpha_{1} \beta=0$ and finally $\gamma \alpha \beta=\gamma t x \beta$.

### 2.1. The equality $B A B=B$

11-entry: $b(e+s t) a b(e+s t)-b(e+s t) x \beta t-b s y b(e+s t)+b s \alpha \beta t=b(e+s t)$, follows from $b a b=b(\mathrm{a}), t a b=y b(\mathrm{~d})$ and $s=x(\beta-\gamma)$.

12-entry: $-b(e+s t) a b s+b(e+s t) x \beta+b s y b s-b s \alpha \beta=-b s$, follows from $b a b=b$ (a), tab=yb(d), $\gamma \alpha \beta=\gamma t x \beta$ (g) and $\beta \alpha \beta=\beta+\beta t x \beta$ (f).

21-entry: $-\beta t a b(e+s t)+\beta t x \beta t+\beta y b(e+s t)-\beta \alpha \beta t=-\beta t$ follows from $t a b=y b$ (d) and $\beta \alpha \beta=\beta+\beta t x \beta$ (f).

22-entry: $\beta$ tabs $-\beta t x \beta-\beta y b s \beta \alpha \beta=\beta$ follows from $t a b=y b$ (d) and $\beta \alpha \beta=$ $\beta+\beta t x \beta$ (f).
2.2. The equality $I_{2}-A B=\left(I_{2}-A\right) C$

11-entry: $e-a b(e+s t)+x \beta t=(e-a) c(e+s t)+x \gamma t$ follows from $(e-a) c=e-a b$ ( $\mathrm{a}^{\prime}$ ) and $s=x(\beta-\gamma)$.

12-entry: $a b s-x \beta=-(e-a) c s-x \gamma$ follows from $(e-a) c=e-a b\left(a^{\prime}\right)$ and $s=x(\beta-\gamma)$.

21-entry: $-y b(e+s t)+\alpha \beta t=-y c(e+s t)-(\bar{e}-\alpha) \gamma t$ follows from $(\bar{e}-\alpha) \gamma=$ $\bar{e}-\alpha \beta+t s(\mathrm{e})$ and $t=y(b-c)$.

22-entry: ycs $+(\bar{e}-\alpha) \gamma=\bar{e}+y b s-\alpha \beta$ follows from $(\bar{e}-\alpha) \gamma=\bar{e}-\alpha \beta+t s(\mathrm{e})$ and $t=y(b-c)$.

## 3. Final Remarks

(1) If $e R e$ and $\bar{e} R \bar{e}$ are both clean, then the elements considered above have (understandably, since clean rings are exchange) stronger properties: $b-c=u_{1}$ is a unit in $e R e$ and so is $\beta-\gamma=v_{1}$ (in $\bar{e} R \bar{e}$ ). If $u$ is the inverse of $u_{1}, v$ is the inverse of $v_{1}$ and $\varepsilon=-c u, g=-\gamma v$ then $A=\left[\begin{array}{ll}a & x \\ y & \alpha\end{array}\right]$ decomposes into a sum of an idempotent and a unit: $E+U=\left[\begin{array}{ll}\varepsilon & 0 \\ 0 & g\end{array}\right]+\left[\begin{array}{cc}u & x \\ y & v+y(b-c) x\end{array}\right]$. As such, it is also clean.

In this way we recover the proof of Lemma 1 in [2].
(2) Actually, in the above mentioned paper, Nicholson also asks for a direct ring-theoretic proof for "the (finite) exchange property is a left-right symmetric condition". It took 20 years until Nicholson himself gave this direct proof (see [4]).

## References

[1] P. Crawley and B. Jónsson, Refinements for infinite direct decompositions of algebraic systems, Pacific J. Math. 14 (1964) 797-855.
[2] J. Han and W. K. Nicholson, Extensions of clean rings, Comm. Algebra 29(6) (2001) 2589-2595.
[3] W. K. Nicholson, Lifting idempotents and exchange rings, Trans. Amer. Math. Soc. 229 (1977) 269-278.
[4] W. K. Nicholson, On exchange rings, Comm. Algebra 25(6) (1997) 1917-1918.
[5] R. B. Warfield Jr., Exchange rings and decompositions of modules, Math. Ann. 199 (1972) 31-36.

